BUREHRESE

HTEMHEERT - KT 0 v Y (H=100)

EEX
g gl s 100
LUAERK IOV Y
S B\
SN Q o 50
(ap)
o BEIJSI
@ / 1:3
o \
150
HEEERA
RC-40
10m=u
&3l BB B =1 = B H 2
LosmsTays | 230 %100 x 590 [10.000/0. 595 I 16.8
BE)LZIL 1:3 0.100 x 0. 030 x 10. 000 m® | 0.030
EMPBA | RC-40, t=10cm |0. 150 x 10. 000 m? | 1.500




BUREHRESE

HEEERT . SFFar o )—k

EEX
100
a2 )—F = D13
o ck=18N/mm2 L=100 @500
[ 47N
- o
Lo
24|
m_—
2t
INBYE B
10m=Y
=L BOO® it =1 = Bl & =
a9 )— k| ock=18N/mm2 [0.100x0.100 % 10. 000 m?® 0.100
iy 2 0.100x10.000x 2 m? 2.000
= D13 0.100x0.995x 10. 000/0. 500 kg 1.990
HIl L ¢ 13 L=50 10.000/0. 500 Gl 20




BuMEHES
HEMRT : M TEEHGENR

BER
{Wﬁm}
pA '[E:l;'\u q M AARBE
L_S.Llﬂ__l ALT—BDA‘B%D;TB&R
7'-' 500
o
i
i
|
[: q
| 1 |
I
" 5 (¢ 60 I J I
||
[E-5=¥ =)
2 Al R’ & " X B W 2
[ ZEWNH500 x 2220
RNERE | T3 b=, 7om £ 1
garoy—r| ock=18N/mm2 [1/4x 7t x0.6%x0.6x1.20 m?® 0.340
BARURASAEY b 0.3x0.3x 71 x0.6 m?® 0.200
RIAZILEY + ¢ 600 m 1.200
HBERA RC-40, t=10cm |0. 800 x 0. 800 m? 0. 640




HuHEAEE
HREERT - 292 —DY IFERRK

BER

1900

600 100

100

1880
1860 (FRA®)

20

2298

300

300

527

900

1000

1875

500

600

1&EE-Y
5l BB B " =X B &% =
e | FEPIR1860 X
ENERE | 560 He1. 9om 2 1
B2 9—+ | o ck=18N/m2 |0.900 0. 500 x 0. 600 m | 0.270
EAp (0. 90+0. 50) X 2 % 0. 60 m? | 1.700
EW®E | RC-40, t=10cm [1.000. 60 m? | 0.600




BUREHRESE

HEEST . T
BiExX
E @ K B &Aﬁ—“AE &)
hAI hBI _AQQ_ 8@300=2400 300 10
= I 7 7 = nam B
g A g
= l[ ~ w ' Gk=T8N/mm2
§ / § vV 1 54
g Y g
I RHRE
A A
B B B
B-B
ﬂ 8@300-2400 300 10
‘ AT Vv 2.99
d \ £
§ l § § 1yo0_t
b l 3 v 1.8 = 7
l o v 154
l. R
— 2770
e
A BR® it g = Bii| % &5
a9 )— k| ock=18N/mm2 [1/2x (0.662+0.647) x 2. 720 m® 1.780
By {0. 33+0. 151 x 7+1/2 x (0. 122+0. 073+0. 15
+0.10)} x2.720 m? 4.378
EMBR RC-40, t=20cm |3.219 x (2. 72-0. 43 x 0. 55) m? 7.994




HRERIHEHES

/Yy —A—AR1)—
(E¥xT1I)

1S8ELED sin

10
0. o

0.17, 0.24

[l 030 ||
0.40

4B V=0.40x 0. 40 0. 17=0. 03m3

YR V=0.05x0.07x 0. 40 x 2=0. 003m3

2ERELED o

0.01

1

0.11.0.24

0.

0.25
0.35

FR#E V=0.35x%0.35%0.11=0.01m3
R V=0.05x0.01x0.35x2=0.0004m3

PRAE

BER

PRAE

BER

TIER N=68EFT

TIER N=28FF



1¢EHEXI§§E+§% iﬂTEIE%%W*& $=1:30

25 —0—4/1)— 2.7
(%1 1)
3
=
\
3 -
sl
$0. 60
0. 40 0. 800
1. 608
KRR
BRIE V=1/2x (2.71x2.71+1.60x1.60) x 1. 11=5. 5m3 BR
R V=5.5—1/4x 7t x0.60x0.60x0.96-080 % 0. 80x0. 15=5. 1m3 LIEE N-1&7F
97:/_0)")(3: $=1:30
S | | 3
1 T = 1 T =
/ ]
/ S g // S g
o . =) .
o < / o <
[/ [/ /A — V | —
o o
0.90 0.50
1.00 0. 60
BR4E V=1.0x0.6x0.56=0. 3m3 i
R V=0.3—(1.0x0.6x0.1+0. 9% 0. 5x0. 46) x 2=0. 03m3 BR

TTER N=16F/



TEMBERIHETEE s=1:250
NI 1] —
|2 EI 0 N-6% 27v—n—=%1Y
28EH 1 N=2K
W T 0w s L=14. 6+33. 4=48. Om
= FiFasy)—k L=33. 5m
MEEE T N=1EFR
Y—S5—LEDZOw% (197x97x60) N=18%
HTEIESERNR N=1&

545 4—0 Y IFERIR Nzﬁ 5
|

33.5m

33. 4m

|
=

WEIJmys L

:62K<‘,é_>=
-<;%—=- %
S 2
T =
WK ‘-h
e f;?ﬁi-ffa ——
- A. [~ ‘ ‘\“_/
— [t
)
ok
-
= = s T I s [ [
\
) — k|3

—LEDDm@y% (197 x 97 x!60

g I o ys L=14. 6m

TEIEISRAR =15 FEER T N318FRT




TRERERIHETESE w0

|

i

SEE LA —

73726

29 —FHE (EmBBER)
)L —

IREN

T

T

TELEVEN

M

(-

Pi‘@iiviw

M#I%Luiu ‘
/ |

Uy

. o Ewmmmm[[ mﬂm\

— BB ——
S =N i:;ij'[f

nnfin

\\X\XL\XX\ S S S SC SN SUSSSSS =

= ‘ ‘ —

—
—

= 1.93- E; :3
- “ ==
—= — | =
T ” Sl

==
o
== -
= 7T
/ Eﬁ E:jjziif;:ﬁi::**);)[jiggéi _—
— —_—

e



BEVMBRIYENTES o125

RHy—O—4F1)—
BRI - BT SCARMASE N1 N . R
FIRISE (600 x 1000) N1 (BHR - &)
%*ﬁ*@gﬁ (800 X 300) _N:1§ (1&*) -*j-‘y:F‘y \y:) (H:O 8m) N:65+26:91 * (A:‘]G 3+6 6:22 gmz)
a4y MERISER (950X 1050) N=12 () %+ 57K (H=2. Om W=1.6) N=2k
ETEAIE SRR N-1% F+ V=30.8 0. 45+0. 112-123 x 0. 005-2 x 0. 022=13. 3m3 |
S RIS S (ST BE N=2% | \ | | | | |
dl —— [ @ T — S E—
T BB (600 X 1000 - 800X 300), ., . o T
:2 | | . | 1 b . ‘ ‘
o W{\ g Al Y, N340y |

H A A

CER)HUEYYY
% H \(HZO. 8m, 42|§/m2)\ |
|

I~

' =

[T
NN
R ERER 1 16.3m2 X 47 /m2 =654 |, |
= | N0/ 3+5R14.J5

\ iﬁ%ﬂ N Ezasy rmmsR o100

ER)HyEyvs

(Hs0. 8m-42/m2)
6. 6m2 x m2= 2624

_ = =

HlREEH T BER /O
N=1% =

— =

o —

i

e

’jiq Pﬁf‘

PR — =



IR (M) Y LEBBMFERETIE

XiEE R
TEHRBRH B | & F
AHERTERREH
L= #% B | BORE| AR |[ENRE | #HEE | #HNFE | FiE IN—2 HERR mo
cm m m m m m3 m3 m3 kg/A& (Kg/m) ke/A&
BERXHYFYYD) 80LL E1005K 5 0.22 0.13 0.41 0.31 0. 005 0.041 0.036 1.8 0.18
PARFrIHRY) 20014 £ 250 i 0.35 0.23 0. 61 0. 46 0.022 0.134 0.112 5.6 0.56

- 2EELELE AR H=60cm. {EAR45cm

HELTREIEMBAXBERILT=2T7 ISR



§3. 49— T )LA—

3159 =2 )Li—(1)

3.1.1 4K

<

- 1o

f

R—RTL—h

£ 19x300x300

dmiois T

Led A
FRAXPE T IV > M

3

560

A—RTFL—k

£ 19x300x300

o 11 Aol
FRAXFE T/ >

|

50x360x360 | A= 4 $216.3x8.2 , 50x360x360 | =
Lo Wi T Wi
J EEE ‘ =y EtEE |
!/ i B
A A =t a5 /ﬂgb“f T o — i RN
—_ 5. 84 \\ | Tﬁluﬁnn..::n/ o \\ i gn—ﬁ:n..:;:n
§ u.vy an‘ \. 4ok (] \JJUAJ‘i{ - :\ *‘LF I Jduiiiu
R "o P A “a. !l Jo
2 5y ‘/»'\' — S 1 ./..;'
o ¥ N | i 7
(-_3:;‘ L ! 7 v N 7
& ;
i LL B laTel i ||"|l-"| l | i ||"-“| i LisTel i L"n I
Fratatl " FYavat I !\;inr\l I;ir\ | - gty B F¥avst I
] ]
¥ ¢ 2163%X 82 mm N—2 7L —
A, = 0.0367 m PL— 19 X 300 X 300 mm
h, = 40.050 m (=>Z7V—h EELD)
LG H L 50 X 360 X 360 mm (A0 = 30 mm)
a7 — MR X
550 X 550 X 600 mm
4, = 03025 m’
av7Y—k~ B, 1.200 m FERERZ IR 1.400 X 1.600 m
B T2 AH
HLRE AR L. = 1400 m HRg= 20—k o, 0.100 m
H, = 0.600 m et hy = 0.200 m
B : N = 3 % B RS : D, 0.240 m
B . D, = 0.200 m
PR 155 Dy = 1.460 m
PR 2B lin g 1:0.5
IRYE A bg 0.500 m




12 MEER

§ . o B
! /M i R AT [J—-\/ Nz
il HE FRHE - ~HE BALT Wy | 3L
E#(1LT R A m’ 13.6 40.8
HEL e RGN 1m LA F4m 3 m’ 11.8 35.4
a7 — AL T a7 —k 0 4= 24 N/mm’ m’ 1.2 3.6
A AR ERATAEE DY) m’ 4.4 13.2
B D13 kg 69. 207.
(SD345) D16~D25 D16 n S S
D19 i 23. 69.
/N EF N 23. 69.
& Ft n 92. 276.
gk EE YL | DI30<L=1m  %%:Head—bar | fFT 6. 18.
I AEE L2V TLIVIAZAT m’ 0.01 0.03
T BLarr7)—k 04— 18 N/mm? m’ 0.2 0.6
A AR b3 iy m’ 0.6 1.8
oA t=20cm , RC-40 m’ 22 6.6
@) [ ¢ 05) | ( 1.5)
313 HEFHE
3131 k%1 T
(1) R
Ve = 1/6 X {220 X 3.86 + 2.40 X 3.66 + 2 X (2.20 X 2.40 + 3.66 X 3.86)} X 1.46
13.6 m*
(2) HEL
v, = 13.6 — 1.85 = 11.8 m®
PEERRFE
FE :0.55 X 0.55 X 0.56 0.17
a7 — LRk 1.20 X 1.40 X 0.60 = 1.01
BLar 77—k 1.40 X 1.60 X 0.10 = 0.22
PRy 1.40 X 1.60 X 0.20 = 0.45

y

= 1.85 m’




313230 —hEMT

(= 7Y—h (0 4= 24 Nmm?)
S g o
aHE = (o)
FERA 0.55 X 0.55 X 0.60 0.18
FE -0.0367 X 0.53 -0.02
NR—2FL—] -0.30 X 0.30 X 0.019 0.00
I B /LA L -0.36 X 0.36 X 0.05 -0.01
FER/ NG 0.15
=) — | 120 X 1.40 x 0.60 1.01
a7 —MEEr 1.16
(2) & BRI (BRI HEIEDD)
e &
G ke ()
FER 2 X (0.55 + 0.55) X 0.60 1.32
a7 — A 2 X (1.20 + 1.40) X 0.60 3.12
RS G 4.44
(3) Bkfh (SD345)
PR
(kg)
D13 69.
D16 D16 —
~ D25 D19 23.
AN 23.
& @t 92.
(3) M Bk AT A L (D13 0<L=1m) %3 Head —bar
N = 6 & T
(4) EEAUHEE L2V (FVLIVTAZAT)
v = 0.36 X 0.36 X 0.05 = 0.01 m’
3133 HMT
(HBL= 27—k (0= 18 N/mm?)
v = 1.40 X 1.60 X 0.10 = 0.22 m’
(2) A LA (FILI)
A = 2 X (140 + 1.60) X 0.10 = 0.6 m’
(3) FLbfEme (t=20cm,RC-40)
A = 1.40 X 1.60 = 22 m’

vV = 1.40 X 1.60 X 0.20 = 0.45 m’



1!

IWE— HE

=z
3289 —LT)LB—(2)

~

§3. 4%

321 K

Rt
<
L2

Q)23

o

o~y
5¢ >
~t 1A
. IR
w -} o
& i “
- Eat O ~ o
3 REL N
o | ®O ! g
pral - anm A_.ﬂ
| m_m —=r
- o I
5
o - & 8 8
. ~ (Y] o] (]
- - ol
m & [
.......... m_m B ]
) b
= | <>
Ji | S
I o
e g
el oy %
e
0y G o4r |7
ErEaT
i vl: o)
o nuwr Ny -
> =: L4
g N
p o= N
& <3 1 =3
o | B® | S
i) - 8%
4 ni T
, 33
i r
p _ ] ] <o
e & & [
=t = =2 = = e = € =r
- N
..u m_n o
m 3 (w1}
i Bt 1
| <>
_ =
P "
P %
PR
ap 099
009 009

00z | BOT 00z

A7 L —h

N

267.4X 93  mm

¢

350 mm
+0.050 m (=2 Z7V—F EHEED)

30 mm)

350 X

19 X

PL—

0.0562 m’

410 X 410 mm (b

50 X

IV HEE L2V

ar ) —MREE

600 mm
0.3600 m’

600 X

600 X

0.100 m

1.800 m

1.600 X
h

b7
Hisoa ) —h
W

1.400 m
1.600 m

a7 —h
FEHEAR

0.200 m

hy

0.600 m

0.240 m

i it S
SRy

A
]

1 £

FE

0.200 m

1.460 m
1:0.5
0.500 m

PR =

ng

1

PRAE 2B

b



322 HEEHER

, . o B
! /M i R AT [J—-\/ Nz
il HE TG -~k BALT Wy | RNy
E#(1LT R A m’ 15.5 15.5
HEL e RGN 1m LA F4m 3 m’ 13.1 13.1
a7 — AL T a7 —hk 0 4= 24 N/mm’ m’ 1.5 1.5
A AR ERATAEE DY) m’ 5. 5.
B D13 kg 86. 86.
(SD345) D16~D25 D16 n S S
D19 i 34, 34.
AN I 34, 34.
& I 120. 120.
gk EE YL | DI30<L=1m  %%:Head—bar | fFT 5. 5.
I AEE L2V TLIVIAZAT m’ 0.01 0.01
T BLarr7)—k 0 4= 18 N/mm? m’ 0.3 0.3
A AR b3 iy m’ 0.7 0.7
Py el t=20cm , RC-40 m’ 2.9 2.9
@) [ ( 06) | ( 06)
323 HEFHE
3231 k%1 T
(1) R
Ve = 1/6 X {2.40 X 4.06 + 2.60 X 3.86 + 2 X (2.40 X 2.60 + 3.86 X 4.06)} X 1.46
155 m?
(2) HEL
v, = 15.5 — 241 = 13.1 m®
PEERRFE
FERH ©0.60 X 0.60 X 0.56 0.20
a7 — LRk 1.40 X 1.60 X 0.60 = 1.34
BlLarz)—k 1.60 X 1.80 X 0.10 = 0.29
PRy 1.60 X 1.80 X 0.20 = 0.58

y

= 241 m’



3232 9 )—hEBET

(= 7Y—h (0 4= 24 Nmm?)
e o
aHE = (o)
FE A 0.60 X 0.60 X 0.60 0.22
FE -0.0562 X 0.53 -0.03
NR—2FL—] -0.35 X 0.35 X 0.019 0.00
S HETE LA L -0.41 X 0.41 X 0.05 -0.01
FER/ NG 0.18
=) — | 140 X 1.60 x 0.60 134
a7 —MEEr 1.52
(2) & BRI (BRI HEIEDD)
e o
G ke ()
FER 2 X (0.60 + 0.60) X 0.60 1.44
a7 — A 2 X (1.40 + 1.60) X 0.60 3.60
TR 5.04
(3) &k (SD345)
PR
(kg)
D13 86.
D16 D16 —
~ D25 D19 34.
N 34.
& & 120.
(3) M Bk AT A L (D13 0<L=1m) %3 Head —bar
N = 5 & AT
(4) EEAUHEE L2V (FVLIVTAZAT)
v = 0.41 X 0.41 X 0.05 = 0.01 m’
3233 EMT
(HBL= 27—k (0= 18 N/mm?)
v = 1.60 X 1.80 X 0.10 = 0.29 m’
(2) A LA (FILI)
A = 2 X (1.60 + 1.80) X 0.10 = 0.68 m’
(3) FLbfEme (t=20cm,RC-40)
A = 1.60 X 1.80 = 29 m’

vV = 1.60 X 1.80 X 0.20 = 0.58 m’



2H— )L — (1)

¢ ¢
3 660 3 860
R—2FL— N—RITL—h
P 19x300x300 2 19x300x300
EIVEEILZIL EIVEEILZ IV
50x360x360 i $216.3x8.12 50x360x360
N BB = | HES
S TN \ 757 %Kﬁ' 757 \ 757
<
o o FERD H FERD
g 3 8 \ \ O 550x550/ \ \ O 550x5%0
- ' S I 1k
- 8 2\ > ¥ 2\ >
O] ~ -~ ~
S =/ W — /
1001200 100 100 1400 100
400 1400 _|400 400 1 600 400
2 200 2 400
25— LA — (2)
¢ ¢
3 860 4 060
~R—2FTL—k N—RITL— b
P 19x350x350 P 19x350x350
e e
XX H $267.4x9. 3 XX B $267.4%9.3
N HES | 2 | 7 EHES \
o \ WS 1|
o = \ FERE 77 =Y \ %2\ FERT A7
s 2 8 O 600x600/ O _600x600
15 A »  Q A - o
- g o\ SEE- B &
o © o /'\' — o"\ /\'
()
é—_tm:mj_ v
N
1Jo 1.400 100 1Jo 1 600 1L0
400 1 600 400 400 1 800 400
2 400 2 600




HEMIER  KFRIONIHS L2 —

X5 Rl
THEE3! EBAL HHE - Tk ER oL | B L | GEEY L | BEZ L |22 —> x| EVEZ =L &t Hfi % %%
2—A 2 —B o o - o
LEISE BiR Y DA—VEETIINZD LRI 54 13.45 15.69 43.26 77.66 59.08 74.28 28342 7 v RS B
LEISE XHREY LAY SS400 CT-200x97.5x8x12 L=150 4 4 10 32) 22) 21 3|EAT  |ARER G > TR
LEISE XHREY LAY SS5400 L-100x100x10 L=150 4 4 4 4 8| 6 30|EAT  |ARER G > TR
2EIE HTB M16x55 F8T 16 16 28 72 60 54 246|174
LEISE REFIL b M12x55 SUS 24 24 48 136) 104 96 432\
£EIF Bk * v v 7 M12/8 24 24 48 136) 104 96 432|1E
LEISE iR TV IR 5x65 5.00 5.00 8.00 5.50) 11.00 17.96 52.46|m 7 v RS B T
LEISE S TV IR =F575x65 5.86 6.84 11.50 30.83} 24.95 79.98|m 7 v RS B T
LEISE 48 TV IR 100x55 5.86 6.84 11.50 30.83} 24.95 10.94 90.92|m 7 v RS 2R T
£EISE HEBHEENN— BIR - K3 |70 IR =20 216.3x2284 (BR)  216.3x256.9 (KH) 2 2|fERT 7 v RS B T
£EISE HEBHEENN— BIR - K3 |70 IR =20 216.3x253 (BIR)  216.3x282 (KH) o| &Rt 7 v RS B T i
£EISE HEBHEENN— BIR - K3 |70 IR =20 216.3x3234 (BAR)  216.3x351.9 (KH) 3 3| BT 7 v RS B T
£EISE HEBHEENN— BIR - R |70 IR =20 216.3x3784 (BR)  216.3x406.9 (KH) 5) 3] 8| AT 7 v R B T
£EISE HEBHEENN— BIR - R |70 IR =20 216.3x647.6 (B4R)  216.3x676.1 (KH) o| &Rt 7 v RS B T
2EIE HEBHEENN— BIR - K3 |70 IR =20 267.4x2034 (BAR)  267.4x231.3 (KH) o| &Rt 7 v R ifEsE T B ECLZES
£EIF HEBHEENN— BIR - R |70 IR t=20 267.4x3534 (BAR)  267.4x381.3 (KH) 1 2 3| BT 7 v RS B T
£EISE HEBHEENN— BIR - R |70 IR t=20 267.4x368.6 (EAR)  267.4x396.3 (KH) 1 1 2|fERT 7 v RS B T i
£EISE HEBHEENN— BIR - R |70 IR t=20 3556x265.2 (BAR)  267.4x293.1 (KH) 1 1| BT 7 v RS B T
£EISE Bith HSR (Bff5I#M> Y a—>TL) ZRHX47 v b (EPDM-S) 18.98 36.86) 27.97) 54.75 138.55\m
£EIF %ELO TR $50 L=50 FhEEMBE b 1 1 2 6| 4 2 16| BT
£EIF 248 TR ¢ge0x2 EMFER. FL b HihbnY 2.80 3.20 6.35 16.84 12.71 7.22 49.11|m 7 v RS B
£EIF LEDEEH] mih (Bae) 1 2 3 5) 4 4 19| EIAT
BAk I HR47y FERAE 1Sy Y a—>rFRy—U v I (SR-1) 18.98 36.86) 27.97) 54.75 138.55\m
Bk TH B 1510 2 AHWERY U a—v Ry —U v IH (MS-2) 16.72 18.67 31.00 67.17] 60.91 28.90 223.36|m
Bk TH Bhzk¥ v v TEUT (M128) 1A TY Y a—>rRy—Y v 5H (SR-1) 24 24 48 136) 104 96 432|1E
Bk TH #Ey 2EATERY Y A—r Ry —U v I (MS-2) 2 2 6] 4 5 19| EIAT
Bk TH 14x10 (ZH£HCT) 2RRATERY Y -2 Fy—Y ¥ I (MS-2) 4 4 10 32) 22) 21 93|EAT
Bk TH 14x10 (ZF£HL) 2RSERY Y 3= FRy—Y I H (MS-2) 4 4 4 4 8 6 30| EAT

2/6



T EHBHEE !

KFERIOLES )L KX —

X4 THER i MWH - & W1(m) L1(m) W2(m) L2(m) B FT HE EAL &%
Ry =Yz R— SEIE EiR S DA—VEBETIVINZALSZIL t=54 59.08| i
247 2.55 1 6.29|ni
1.98 2.55 8 40.31|ni
1.86 2.55 1 473\
1.52 2.55 1 3.86|ni HEEBE
1.53 2.55 1 3.89|ni HEEBE
Ry — TR — 2EIS *FEY £EBY $S400 L-100x100x10 L=150 8| AT
2 2 4| & T
2 2 4| & T HEEBE
Ry — TR — 2EIS *FEY £EBY SS400 CT-200x97.5x8x12 L=150 22| AT
2 9 18|f&RT
2 2 4| & T HEEBE
Ry — TR — 2EIS HTB M16x55 F8T 60|74%
2 4 8|&
2 4 LES HAEIBE
2 18 36| %
2 4 8|& HEEBE
KU — TR — £EIS AR b M12x55 SUS 104| %
2 4 8|&
2 4 8|& HEEBE
4 18 72|74
4 4 16|25 BB ED
Ry — TR — S2EIS BikF vy 7 M12F 10418
80|f&l
24/f& HEEBE
ROy =Y TR — £EIS IR TV M 5x65 11.00|m T
2.75 2 5.50|m
2.75 2 5.50|m HEEBE
ROy =Y TR — 2EIS %) TR =f575x65 24.95|m T
20.35 1 20.35|m
461 1 461|m
ROy =Y TR — 2EIS R TR 100x55 24.95|m T
20.35 1 20.35|m
461 1 461|m
Ry — R — £EI=S HEBRESHNN— BIR - XH 7L ARES =20 216.3x3784 (E1R)  216.3x406.9 (KH) 3 3| T T
Ry — R — £EI=H HEBRESHNN— BIR - XH 7L ARES =20 267.4x368.6 (E1R)  267.4x396.3 (KH) 1 1| @A T
KU — TR — 2EISE ELO TV IHHES  $50 L=50 BAEEMEE 4 4| &7

3/6



T EHRSHEE  KFFRIOLHY 2 LR —
X4 THER i MWH - & W1(m) L1(m) W2(m) L2(m) B FT HE EAL &%
Ry — TR — &EBEI=S 248 TIPS ¢g60x2 EfFEE, R bE FihbY 12.71|m
2.81 4 11.22|m
1.49 1 1.49|m HEEBE
Ry — R — SEIS LEDFRRA wmHAh (BE®) 4 4| & T EfR&E & 1 31.762m
Ry — R — 2EIS b HSR (B5I&M Y a—>3L) ZRAR4T v+ (EPDM-S) 27.97|m
1.90 4 7.61|m
255 6 15.27|m
2.55 2 5.09|m HEEBE
KO = TR — Bk TH H &4y FEUS 1Ay Y a—>rFy—U v It (SR-1) 27.97|m
Ry — R — BHAk T 14x10 (ZFF£YL) 2RNTERY ) a—rFy— v I (MS-2) 8| AT
Ry — TR — Bk T 14x10 (ZFF£HCT) 2EATRERY Y A—>Fy—1 I (MS-2) 22| AT
Ry — R — BHAk T Bk v v ZEUS (M12F3) 1EAFY ) a—>F>—U v o (SR-1) 10418
Ry =2z R— BRI E B 15x10 2 A HER> Y a—r %y —U v 7 (MS-2) 60.91|m
11.00 1 11.00|m iR
24.95 1 24.95|m 5
24.95 1 24.95|m [ag]
Ry — TR — Bk T FEY 2EATRERY Y A= R —1 I (MS-2) 4| & T

4/6



KRFEREOLSY b2 — KEHRER

=
BRI 7t ERvz | Bk | BEE | EEY | 47— |EVET A§+ EfiL &
LE—A| L&—B | vz NR— DEY % I =

AFEHE 216.3x82 STK400 165.03 351.11 0.00 794.43 479.06] 1229.66 3019.29|kg
AFEHE 267.4x93 STK400 0.00 0.00 0.00 316.31 224.55] 0.00 540.85|kg
AFEHE 355.6 X 11.1  STK400 0.00 0.00| 129823 0.00 0.00 0.00 1298.23|kg
H #25 H-200 X 100X 55%8 $S400 307.23 328.13 480.28| 159358  1353.11 202.94 4265.27|kg
H 23 H-194x150x6Xx9 SS400 0.00 0.00 0.00 0.00] 0.00] 1523.70 1523.70|kg
H 23 H-294 X200 X8 %12 SS400 0.00 0.00 646.50 0.00] 0.00) 0.00 646.50|kg

B 472.26 679.24| 242501| 2704.32] 2,056.71] 2,956.30 11293.84|kg

g (5.00%)% @D x1.05 495.88 71321| 2,546.26| 2,839.53] 2,159.55| 3,104.12 11858.53|kg
A PL-19 S$S400 18.35 36.69 75.17 85.46| 58.62 80.54 354.83 (kg
A PL-16 SN490C 25.12 50.24 124.34 114.55 78.88 107.01 500.14|kg
A PL-16 SS400 0.00 0.00 14.57 14.57) 7.29] 0.00 36.43|ke
A PL-9 SS400 17.38 23.17 4373 111.20 90.50 171.04 457.04|ke
A PL-6 SS400 15.83 13.57 14.93 41.26| 26.75 51.72 164.05|kg
A PL-45 SS400 0.21 0.21 0.42 1.27 0.99) 0.57 3.67|keg

B 76.88 123.88 273.17 368.32 263.02] 410.88 1516.15|ke

kg (3.00%% @Dx1.03 79.19 127.60 281.37 379.37 27091 423.20 1561.64|keg
TrHh—FL bk (1R%5)|M16 %680 4 8 12 24 16 24 88|
HT.B M16 X 55 S10T 0 0 0 0 0 112 112|K
HT.B M16 x50 S10T 64 0 32 0 0 0 96|24
HT.B M16 x 45 S10T 16 0 8 0 0 28 52|A&
HTB M16 x40 S10T 8 14 12 64 50) 38 186[A&
ShE iR ;i{;z LoABHY Y 7Y T 77 A% 2MRENRE UL A b AT 2 15.88 20.37 53.92 84.57 67.00) 86.24 327.97|m
#HEt R MifErtE 22 (DP) LRERENT 7 v RHRER 15.35 19.51 50.74 82.09| 65.31 83.86 316.86|m




H > =
K FERILOAEH TILE— BEHREHEE
N B E - e Ed
m 7 = = (kg/rmi) (m) |ZE@E[ (nd) [ ()
Ko y—v g~
53 C1 [2163x82 STK400 06 3.793 1 3 11.379 42.10 479.06 |kg | 0679 7.73 6.81
53 C2 [267.4x93 STK400 0.6 3793 1 1 3.793 59.20 22455 |kg | 0.840 3.19 281 |EREBE
N—Z7L—} PL-19 SS400 300 % 300 19| 785 03 0.3 0.090 1 3 0.270 149.15 40.27 |keg 2 0.54 0.27
R—=27L—} PL-19 SS400 350 x 350 19 7.85 0.35 0.35 0.123 1 1 0.123 149.15 18.35 |kg 2 0.25 0.12 |Efl#BE
HAT 77 L PL-16 SN490C 266 x 266 16|  7.85| 0266 0266 0.071 2 3 0.426 125.60 5351 |kg 2 0.85 0.85
EAT 75 L PL-16 SN490C 3175x3175 16| 785 0318 0318 0.101 2 1 0.202 125.60 25.37 |ke 2 0.40 0.40 |E @B
Tyh—FRL bk (1R M16 x 680 4 4 16 | &
M16x 680 SS4007a L #f 0 A ARMEE#18 > X 4L (HDZ35)
AR CG2 |H-200% 100X 55%8 SS400 1.550 1 4 6.200 20.90 12958 [kg | 0.775 481 481
AiEbR ©G2 |H-200% 100558 SS400 1.550 1 1 1.550 20.90 3240 [kg | 0775 1.20 1.20
AR ©G2 |H-200% 100558 SS400 1.550 1 2 3.100 20.90 64.79 |kg | 0.775 240 240 |EREBE
B2 |H-200x100x55x8 SS400 6.000 1 36.000 20.90 75240 |kg | 0.775 2790 | 27.90
B3 |H-200x100%55%8 SS400 1.250 1 4 5.000 20.90 10450 [kg | 0.775 3.88 3.88
©B2 |H-200% 100558 SS400 1.550 1 1 1.550 20.90 3240 [kg | 0.775 1.20 1.20
IR B2 |H-200x100%x55x8 SS400 5.046 1 2 10.092 20.90 21092 |kg | 0.775 7.82 7.82 | EREBE
IR B3 |H-200x100%x55%x8 SS400 1.250 1 1 1.250 20.90 26.13 |kg | 0.775 097 0.97 | @B
AlES
77> (5 PL-16 SS400 100 x 290 16 785 0.1 0.29 0.029 2 1 0.058 125.60 7.29 |ke 2 0.12 0.12
P PL-6 SS400 140170 6| 785 014 017 0.024 2 1 0.048 47.10 2.26 |kg 2 0.10 0.10
HTB M16 x50 S10T 16 1 16.00 |4
HTB M16x45 S10T 4 1 400 | &
v ES
HAey b7L—h PL-9 SS400 184x137.2 9 7.85| 0.184| 0.1372 0.025 1 25 0.625 70.65 44.16 |kg 2 1.25 1.25 [ 556E A EmEIBER
U77L—h PL-9 $S400 184 % 37.2 9| 785 0184 00372 0.007 1 13 0.091 70.65 6.43 |kg 2 0.18 0.18 | 3L ABFASE BB
HTB M16x40 S10T 2 25 50 |4 SHeRFMNEmEBE
SNANVEEMT 7 2F — |ftat [PL-9  SS400 160 % 106 9 7.85 0.16| 0.106 0017 1 15 0.255 70.65 18.02 |kg 2 0.51 051 | 554 FRA E @B
fta2 |[PL-9 SS400 160 % 122 9| 785 o016 0122 0.020 1 5 0.100 70.65 7.07 |ke 2 0.20 0.20
fta3 |[PL-9 SS400 160 129 9| 785 o016 0129 0.021 1 10 0.210 70.65 14.84 |kg 2 0.42 0.42 |5LABFRAE BB
SBRBEEA7 7 A — |1 |PL-45 SS400 32683 45 785 0032 00683 0.002 3 4 0.024 35.33 0.85 |kg 2 0.05 0.05
SWEEA7 7 25— |f1 |PL-45 SS400 32x683 45 785 0032] 00683 0.002 2 1 0.004 35.33 0.14 |kg 2 0.01 0.01 |l @B
HRBEREE fh3 |PL-6 SS400 360 * 360 6| 785 036| 036 0.130 1 4 0.520 47.10 24.49 |kg 2 1.04 1.04
67.00 | 65.31

6/6




